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Saciion A (28 % 2 mmaris)
For gusastions 1 to 28, choose the most suitable answer and shade ils number {1, 2, 3 or 4}
on the Optical Answer Shest {OAS) providad.

1. The flow chari bolow shows how four arganisms A, B, C 2nd $ can ba classiilsd.

Siart

“\’/:fi;;ﬂ M Broathss through fungs? =

Yas R

!
\\\

Has six legs?

-

'/—/'\_\
;—// SBreathes through » C

VS

v
A B

Besed on the flow chart, which of the organisms is likely o be a fish?

(1) A
2) B
3 ©
4y D
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2. The diagram below shows a human digestive system.

Which of the following matches the part to its function?

Absorption of food R’"‘f:’o":“ Sfwater | pigestion of faod
{1} E only D oniy A, C and E only
(2) Cand E only D oniy A, C and E only
(3) A, Cand E only D and F only A, G, D and E only
(4) E only D and F only A, C,D and E only

3. The diagram below shows a flowsring plant.

What are the directions in which water and food are being transported at Z?

Diraction for transport of
water food
(1 downwards upwards and downwards
{2) downwards downwards
(3) upwards upwards and downwards
(4) upwards downwards
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Number of leaves
80 ;

40 S—
30 \"\

20
i0 -

0 =
1 - 3 4 8 8 7 8 2} 16

Day
Based on the graph above, which of the following statement is fikely to bo true?

- %imedismnslawalstagaondayz.
- Thehsectismits!anrals‘tageondaya.
A Thehsecti&initspupaistageonday?.
: Theinsectisinits pupal stage on day 8.

QO m>»

(1) Aand C only
{2) A and D enly
(3) B and C only
{4) B and D only

Juilan used the sei-up below lo measure the amount of oxygen taken in bya

grasshopper. He measured the movement of the drop of red ink afier ten minutes.
Tha drop of red ink moved to the lefi.

Substance X absorbed a certain gas. What was this gas?

(1) oxygen

(2) nitrogen

(3)  watsr vapour
{4) carbon dioxide
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8.  The flow chart below shows the direction of blood flow In a human being.

hmgs
A
A
4
heart
A
B
L 4
all parts of the body
Which of the following Is correct?
BloodinA BicodinB
(1) high In oxygen low In carbon dloxide
(2) high in oxygen high in carbon dioxide
3) low in oxygen high In carbon dioxide
4) low in oxygen low in carbon dioxide

7. Which cell panis are present in the human egg cell?
A fick (+") indicates the presence of the part.

()
(2)
(3)
4

Nucleus Cytoplasm Cell wall
v v v
v v
v v
v
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8.  The diagram bsiow shows g plant call,

Kavi

. Part X makes food.

Limeng : Part Y contrls al) activities of the csli.
Mallk Partwsuppoﬂsandglvesmeeaﬂitss!mpa.
Nellie : Part Z conrols the movement of substances in and out of the call,

Which pupils made the comrsct statsments?

M
(2
)
{4)

Kavi and Limeng orﬁy

Hzlik and Nelile oniy

Kavi, Limeng and Malik only
Kavl, Limeng, Malik andg Nellie

9. Kah Xuan conducted an eaq:erimentvémaﬂnwermaplarrlasshombeiow. He
rfemoved ons part of the flowsr. Theﬂmerdidnotbecomeafmit

Which

part of the fiower did Kah Xuan remove?

h P
@ Q
@ R

{4)

S
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10. Three plants, W, X and Y, were planted on a-piece of land close to a river as shown
below.

Koy:
w: R X® Y: A
\ oo
B8 \—_d_’/
&

A

=

The land and the river wers Yeft undisturbed for two years. The distribution of the
plants after two years Is shown below.

Which of the following best describes the structures that the fruits of W, X and Y are

fikely to have?
™ X Y

{1) | pod which split open fibrous husk nesty mm smaj

(2) | Moshy frult with small |~ ing-ike siructure fibrous husk

(3) | wing-ike structure fibrous husk pod which spiit-open

(4) | pod which spit open | oS Mt withsmall | = g/ e husk
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1. The diagram below shows a developing baby in the mother's womb.

Which of the following is iransported from the mothsr to the baby threugh part X and
used by the baby?

A @ energy
B : oxygen
C : carbon dioxide
D : digested food

(1} Band Conly
(2) BandD only
(3) A,BandConly
(40 B,CandD only
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12, Mumuhangsfourwefghtsonfourpiecesnfsﬁngs,w,x. Y and Z, baged on the
maximum mass each piece of string ¢an hold as shown below. The strings are of
the same length and each piece is made of a difforant material,

B e S e e e

E-

Based on the set up, which plece of string is the strongest?

(1) W
2y X
3y Y
4) Z

13. All attached a balloon to a plastic bottle as shown below.

-~ balloon

- plastic bottle

He tried to inflate the balloon in the botile by blowing air into it but he was unable to
do 50. Which of the following best explains his observation?

(1}  Alrhas mass.

(2) Airtakes up space.

(3) Alrcan be compressed.
(4) Alr has no definite shape.
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14. The set up below shows 3 Aquld poured Infc a contsiner as shown below,

Wial propertlss of liquids are shown in the set up above?

: Llquids have mass.

¢ Llquids take up space.

A

B

C : Ligulds cannot be compressed.

D Liquids do not have a dsfinite shape.

(1) Aand Conly
(2) BandDenly
{3) B, CandDonly
{4) AB,CendD

18.  The diagram below shows th

ree simiar discs, each with a squars hole in the cenfre.

One of the discs is a plastic disc and the other two are megnets.

magnets

plastle disc wocden stand

Which of the following armangsment is not possible?

(1

T
R
L ALA R i ]

..........
"

@)

$SRBTAA)

g.f" ]
AR

----------
-------

Sc!PS!SAZISﬁmA!Q{)i?.‘PagBQDHB

{(2)

4)




18. Two identical beakers, sach containing a different amount of Bquid Y of a different
temhuo.wemmpuadqmddylmommainercwmwasplammamom.

500 mi )
80 °C 250 mt

container C

What Is the most ﬁkelytempezann'eofﬁquidemMnarConca all the liquid has
been poured into it?

(1 10°C
(2 s0°C
3 65°C
(4 100°C

17.  Jeffery set up an experiment as shown in the diagram below.

pole X pole Y
] steel wire i

welght

bumer

Which of the following Is most likely to happen to the welght after one hour?

(1) The weight will increase in mass.
(2) The welght will decrease in mass.
(3) The welght will move towards pole X_
(4) The weight will move towards pole Y.
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18.  Meimel had four shapes

each mads of a different materisi (W,

below. The diagrams are drawn 1o scale,

&= ()

W

She placed the four cut-outs

diagram balow,

below,

Y

W X

There was no light ssen on matesial 2.

Y
teimel turned on the torch and recorded her obsarvation on matesial Y as shown

Z

inﬁmﬂnfammh,maMmcm.asshminme

Z

Besed on Meimei's observation, which of the following best describes the
transparencies of the four matsrials? -

a
Dﬁ;;m:t E g%? an;:: m;ﬁl“ Not possible to tell
= WX - YandZ
2) W,y > :
@ Y2 = .
@) Y,z B :

Sc!F‘Ef&AZ!SMoFIA!ZOi?.‘F‘mﬂaH&

X, Y and Z) as shown




19. Study the water cycle balow.

%Emd&mfaﬂommonnacﬂyidanﬁﬁesmcasmPanonftrmwatercyde?

(M ¢

()
3
4

Process P Process Q
Process Heat Transfor Process Heat Transfer
evaporation heatloss condensation heat gain
svaporation heat gain condensation heat loss
condensation heat loss evaporation heat gain
condensation heat gain evaporation heat loss

20. The table shows the melting and bolling points of two substances, X and Y.

Substance Meiting point (°C) Bolling point (°C)
X 16 118
¥ 114 183

Which of the following shows the cormrect state{s) of X and Y at 150 °C?

(n
(2)
(3)
{4)

X Y
gas solkd
liquid fiquid
gas liquid
liquid solid
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21, SszMe!Eeﬂabeakafmntah&:gatém!mfisematabbhaw.

boaker |

lce at G°C

3)

The graph below shows the changes in ths ismperature of the fce / water In the
beaker over 15 minurtes.

Temperature{°C)
40

F 3

30

20
T
ic

X /
U +—e + Tima (min)
G 5 10 15

Bassd on e graph, which of the followlng maost kely shows what she woukd
observe in the beaker at poinis X and Y of the graph?

_____-"-_-‘-‘--——__ .
X B Y
(1}
e \
= | ice
p - iy . .
@)
ica 4 l :
2 & =5 waler jQ"_f
{3)
‘// 1
7
(4)
3 75
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22. The diagram below shows four circuits with different arrangements of identical
batteries and lamps. The lamps in ali four clreuits lighted up.

888 88

i —ged oy

Which of the following statements aboust the brightness of the famps ks correct?

1as;

(1) Lamp KIs brighter than lamp L.
(2) Lamp LIs brightor than lamp M.
(3) Lamp Mis brighter tharn lamp K.
(4) Lemp Nis brighter than lamp M.

23. 8iQing had four rods, A, B, C and D, of unknown materfals. She connected the rods
In the twa dircuits shown below. Bulbs S and T were working properly.

She observed that only bulb S lit up.
Which of the following correctly describes reds A, B, C and D?

Does it conduct sloctricity?

A B C D

¢ yes yes yes no
not possible to nof possible to

@ You tel "o toll

3) no yes yes no
not possible to

(4) yes yes no tell
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24. ﬁbalibmvmghwad&mﬂonassm}nﬁwdiagfambﬁmﬁ.

A forca is applied fo the bali In the sama direction of its motion.
Which of the following cowld be the effect(s) of the force appliad on the ball?

A . The bail moves faster,

B : The ball moves siower,

i The ball stops moving.

D : Thedirection of the ball’s motion changes.
(i) Aonly

{2} Conly

(3) AandDonly
(4) BandDonly

25.  Janet threw a ball into the air. Tha bail flew up fo E, then dropped down o F as
shown bslow.

Which of the following correctly describes the changes In the weight and mass of ihs
beall as it moved from E o F?

Weight of the bali Mass of the ball
{1) decreased decreassd
2) decreased remained the same
(3} remained the same decreased
{4} remained the same remainsd the same

ScfPS!W!Se{:BmA!ZO‘I?!MG 50i18



26. LI Xuan conducted an experiment. She placed a wooden block on a flat shest made
of material W. She then pushed the wooden block with force F. The wooden block
moved forward and she recorded the distance movad, d, as shown below.

wooden biock

—ill A
.} dm —
ummmmmmmmmmmamx Y
and Z, using the same woodan block and same force. She recordad har results In

the table below.
sdatorda) w X Y Z
Distance d (cm) 7 5 10 15

Which of the following shows the correct order of the materals, starting from the
material with the least friction batween it and the block to the material with the most

friction?
least friction ———» most frigtion
M X . W ., v, z
@ X , Y W, z
@z, Y , w., X
4 Z , W , Y , X

Se /P37 SA2/ Section Al 2017/ Page 1§ of 18



27. Junhao conducted an experiment using four springs, P, Q, R and S each of equal
length when unstrefched.

He hung a metal rod M from two of the springs at an squal distance apart. The
resuits of his experiment are shown below,

(BN

in another experiment, hahmgfouequalmass&efmmaam of the sptings.
Which of the following correctly represents now the four springs will be stretched?

1 2) s

“PQRS @ laas
[J »

3y -— - (4)
Eaasg Pali

8¢/ P51 SA2/ Section AJ 2017 7 Pega 17 o 1



28. A hook attached to a magnet was placed on the door of a refrigerator as shown below

in diagram 1. When a bunch of keys was hung on the hook as shown in diagram 2,
the magnet, hook and keys fell to the ground.

Diagram 1

Which of the following Is the reason why this happened?

(1) The weight of the keys was greater than the total weight of the magnet and
hoolc.

(2) The total weight of the keys, magnet and hook was mors than the friction
between the magnet and the door.

(3) The meagnetic force of attraction between the magnet and the door was
less than the friction between the magnet and the door.

(4) Tho total weight of the keys, magnet and hook was more than the
magnetic force of attraction batween the magnet and the door.

End of Section A

Se /P8 SA2/ Secion A/ 2017/ Page 1B of 18



Pl Chun Public School
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Primary 5
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Sciencs Teacher:

44

Totai
Parent's signaturs: 100

Section B (44 marks)

For qusstions 20 to 41, wiite your answers In the spaces providsd.
29. The diagrams below show a sunflower plant at differant imes of o day.

b) Bssides sunlight and chiorophy# {green pigment commonly found in leaves), what are
twoomersmmstancasthatplantsnsedtomakefcod? (1]

SCCORE
Sc/P3ISA2/Section B/ 2017/ Page 1 o1 14




30. Mary set up an experiment by removing part of the food-caimying tubes and water-
ca %:oplants,MandN. The waler-carmrying tubes were exposed at different
parts of the stem of each plant, depending on where the cut was. A third plant, P, was

left uncut. The three plants were then placed in beakers containing the same amount
of water as shown in the diagram below.

N P

=K 1 reierazd formd- TOOlS

The obrervalions of the three plants were recorded in the abie below.

Pilant | Observations after five days
M | No swelling obsarved on the stem.
N The piant Is still growing well.
Swelling on the stem above the cut observed,
p The plant is growing well.
No swelling observed on the stem.

a) Explain why the stem above the cut on plant N swelled. [2]

b) There was no swelling observed on the stem of plant M. Write down one other likely
observation of plant M. Glva a reason for the observation stated. - [2]

Observation:_

Reason:

Sc/P51SA2 } Secion B/ 2017 / Page.2 of 14




31.  Eight people wers trapped in a iift. Some adults started kicking and banging on the
door., Two young children startedt crying.

The graph below shows the amount of two different gasasin the fift ot difersnt fmes,

Amount of gas

a} Name the two geses. (2}

gas X:

gas Y.

b) If the edults had ot kicked and banged on the lift door but kept stifl and the children did
nat cry, would the amount of gas X at 30 minutes bs higher, the same or fower than
shown In the graph above? Explain your answer. [1]

SCORE
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32. Sherihas a bag mads of material X. Material X only allows certaln substances to pass
through It. She wanted fo find out if substances Y and Z could pass through material X.
She eat up her experiment as shown below.

colourless solution
(watsr with
substance

brown solution
(water with substance Z)

bag made of material X

At the start, substance Y Is colourless and substance Z is brown.
When substances Y and Z are mixed logether, substance Z will tum dark biue.

The diagram below shows her experimental set-ups after a few hours.

solution remained brown

solution turned

dark blue
a) Based on Sheri’s experiment, what could she conclude about material X7 [2]
b) State a part of tha csll that has the same function as the bag. {1]

SCORE
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33. Amirplaced three dishes containing the same numbsr of seeds at fhree different
places. He waterad the seeds with the Same amount of water avery day.

seeds

paper lowel
cupboard well-lit room refrigeraior

Amlr counted the number of germinated seeds in the dishes each day and recorded his
resulls as shown in the table below.

Number of germinati ng seeds
Place -
Day 1 Day 2 Day 3 Day 4

cupboard 0 4 8 10

well-lit room 0 3 6 9

refrigerator 0 0 0 0

a) Based on the results, which was the best place for seeds (o germinais?

Give a reason for your answer. [1]
B) wwnat can Amir conciude about the ettect of light on seed germination’? (1]

¢} Amir also wanted to find out how the number of seeds planted would affect how well
the seedlings grow.

Which variables should Amir keep the same {o ensure a fair test?
Put a tick (v) in the correct boxes below. [2]

Variables v
The place where the sceds are placed

The number of seads germinated

The number of seeds planted

The type of seeds

SCORE
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34. DanstudbdhowmenwnwofmaiesandfamaiasmmdmmWofaoeﬂah
type of turile at different temperatures. He kept 100 eggs at various temperatures and
counted the number of male and female turties hatched from the eggs. His results are
shown below,

Number of turtles hajched

100 ¢ Key: (] female B mae

80

80

' [

28 29 30 31 32 33
Temperature (°C)

a) State how the temperature affects the number of male turtles hatched from the eggs.
[1]

b) Based on Dan’s results, give a reason why this type of turtie may disappear from the
earth If the earth's temperature continuss to increase above 33°C. (1]

SCORE
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Material of Thicknass of rod | Forcs neaded to break
rod Colour of material {ram) ¢he rod (units)
W Black 10 200
X Blus i3 350
Y Red 14 150
Z Red i5 325
a) Vﬂmpmpenyofmemateﬁalswasﬁhmadhyingtalest? {1]
b) Give a reaso why Ahmad's experimert was unfair. [1]

¢} Ahmad bought an inflatable fioat which fraps air to stay afioat.

Besides being Hght, strong and flexible, name one other important property required of
the materal fo make the inflatable float, [1]

SCORE
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38, The capadity of jars A and B is 300 cm® each. Each jar contained 300 cm® of alr,
Andric balanced the jars on a lever balanoe as shown befow.

stopper

jar A with Jar B with
300 cm® of alr 300 cm® of air

Andric did an experiment by pumping another S0 cm” of air into jar B.

8) What would he observe of the levePbalance when 50cm?® of alr Is pumped Into jar B?
[1]

b) Whatis tha volume of the air in jar B in the end? {1}

¢) State two propertles of alr that are shown in the experiment above. [2]

SCORE

Sc /PS5 FSA2 i Section B/ 2017  Page Bof 14




37. Ibrahim heated an emply giass flask with g loossly-fitted sfopper over a bumer for ten
minutes.

loossly-
fitted stopper

conical flask

bunsen
burmer

1} What would happen to the stopper afier ths fiask was heated for ten minutes? [1]

1y Explain your answer in a{i}. [41

b) Ibrahim did another experiment with two similar flasks, X and Y. Flask X was made of

glass tube

{made of plastic)
coloured — | container
water of hOt
water

After some fime, he observed that the wates levels in both glass tubes ross but the
water level In the {ube for flask X was higher.

Explain his obsarvations. [2]

SCORE
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38. Tessa brushed her testh In front of a mirmer in bathroom as shown in Diagram 1.
After she had taken a hot shower, the mirror became fogged as shown In Diagram 2.
She did not spray the water on the mirror.

a) Explain how the mirror became fogged. (2]

b) Glve a reason why the mirror became clear again on its own after some tima, [1]

c) Tessa's mother fixed a heater on the back of the mirror.
When the heater was swilched on, it heated up the mirmor to about 40°C.

Explain how this prevented the mimor from becoming fogged after a hot shower. [ 1]

d) The dlagram below shows the wires in the circult of the heater.

lil—
1]+

/

If the wire is broken ai polnt X of the clrcuit, will the heater sfill work when the switch is
chosed? Glve a reason for your answer. {1}

ScIPSISA2/Secion B/ XH7/Page 10 of 14




38.

a)

b)

30.‘?5!8.4\2!3665%8.’201?!?393 11 0f 14

The graph balow shows the lsngth of springs T and U when loads of different masses
ars hung on tham,

Lengih of spsing {om)
35
30
=
25 Z%ﬁj
7z
i
20 /’}*_
3 T
1 - c—
R
P >~
10 - 5
]
&
) ¥ T
0 20 40 60 80 00 120
Mass of load (g)
What is the extension of spring U when a mass of 60 g is hung on It? [1]

What should be the mass of the load hung on spring T to makae it extend by 10 cm?
[1]

Based on the graph, which spring, T or U, can be stretched more easily?
Give a reason for your answer. [1]

SCORE




40. Hassan placed a block at the top of a plank as shown In the diagram below,

block

plank

a) He observed that block did not slide down the plank.
Name the forca(s) that washwere acting on the block when it was resting on the plank.
[1]

b) Hassan set up an experiment as shown below. He puiled the block up the plank using
a spring balance. He repeated the experiment for different values of angle x. He
wanted to find out how the pulling force changes with angle x.

spring balance o

Hassan usad the same block throughout the experiment.
Glve two reasons how using tha same block helps to make the experiment a fair test.

[1]

¢) Thetable below shows the results of Hassan's experiment.

Angle X (*) Pulling force {units)

0 50

10 125

20 175

30 200
Give a reason why a greater force was nesded to pull the block when Hassan
increased angle x from 0° to 10°, [1]

SCORE
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d) Hassan pulled the same block down the same plank using 2 spring balance as shown
below and measured the force required to pull the block down the plani,

—
(—-'

20°

i) Based on the resulis of Hassan's expsriment, how much would the puliing force be?
Choose your answer by ticking () in the correct box. [1]

| iess than more than 50 units more than
50 units but less than 175 uniis

175 units

ii) Give a reason for your answer in (i),

(1]

SCORE
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41. L1 Qin sets up an expsriment as shown balow.
When the steel clips are Immersed In Bquid Q, she observed that the bulb it up.

a) Based on Li Qin's observation, what could she conciude about liquid Q7 {1]

b) Li Qin connected one of the steal clips to the glass beaker as shown balow.

steel clip ﬂ glass beaker

llquid Q
Would the bulb light up? Explain your answer. {11
End of Section B
Selby : Mrs Chiew-Cng Sc~* Li, Mrs Bu Shin Yunn and Mdm Salmisna

Vetied by: P5 Sclenca teachers

SCORE
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EXAM PAPER 2017 (P5)
SCHOOL : PEI CHUN
SUBJECT : SCIENCE

TERM : SA2
Qal | a2 Q3 Q4 Qs Q6 Q7 a8 Qs Q10
3 1 3 4 4 2 2 3 2 1
Qi1 Qi2 Qi3 Qia Q15 Q15 Q17 018 Q19 Q20 |
2 1 2 2 K '3 4 2 3 3
Q1 | Q2 | a3 Q24 | Q25 Q6 | Q27 | Qqzs B
a 3 4 1 a 3 | 3 4 —_j




Name;

Class:

P5 Semestral Assessment 2 {2017y

2%a)

bj

Plants need carbon dioxide and waier to
make food.

30a)

Concepts:

- Thelﬁ%ﬁhruzﬂvyﬁu}tubes1?anuano¢t er ihe to other
peris of the plant. The watsr-camying tubes axposed fo waler in 2 cut
stem can absoib water for the Plant. (Coloured fower experiment;

- The food-caryirg tubss transport food made by the lsaves t the other

parts of the plani,

1* point: The exposed water- camying fubss in the stem of plant N

could ___absorb water and the leaves could still get
waler to make food

2™ polnt: The food made by the leaves could not be
transported fothe roois

and the food ___ accumulated above the cut (as the food-
carrying tubes were removed).

b)

* Compare the posilion of the exposed walsr-carrying tubes on M and N.

Observation: The plant would wilt

Reason: The water absorbed by the roots could not

be transported . fo the Isaves and the leaves could not
make food

31a)

Concept: Human Mwmm&@
* Compare the energy needed when the aduits were Kicking and banging

with the energy needed whery the adults kept stilf,

b) |

fwould bg __ higher - The people in the lift necded
less energy witen they kept still and they wouid
take in less oxygen o produce less energy.




32a)

b)

33a)

b)

c)

34a)

b)

“ Alm of experiment is to find out if substances Y and Z could pass through
material X, fpassﬂmwbb‘wmatadal-emermdfmvamematedaﬂ

* Observations — sofution in bag tumed dark bite {Y+2), solution outside the
bag remained brown (Z only)

Material X__does not allow _ substance Y to pass through it but it
allows substance Z to pass through i,

(controls the movement of sbstances In and out of celis, allowing only
Certain substances 10 pass through it)

* Do not compere.the speed of germination. Some of the sseds in both the
cupboard and wellit room germinated by day 2. Compara the number of
germinated seeds In the various places on day 4.

Cupboard . The number of germinzted
seedswas the greatest onday 4/ at the end of
the experiment.

* Cupboard - derk, fight absent Wel-it room — bright, light present
Seeds germinated in both places.

Seeds do not need light to germinate.

‘ﬁmdememmrowmmeewwmaﬁea

Liow well the seedlings arow (The number of seeds germinatad is dependent
on the number of seeds planted.)
Variables Kept the same
Tho place where the seeds are placed v
The number of seeds gemminaled
The number of seeds planted
The type of seeds N

As the temperature increases, the number of male turtles hatched
decreases

Concept: For animals to reproduca, both mafe and female need to be
present.

As the temperature increases above 33°C, there will be
fewer male turtles o  reproduce with the

fermale turlles.
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b}

38a)

b)

37a)

b)

cmmsm@mmmaamywemweobewmwmw
breaking,

Strength

Concept: The thickness of a rod wit affect #s sirengih. (A thicker rod will be
mngwmmaﬂwwmmdmwnmm)

“ Aim of expsriment: To tasﬂfmsbmgﬁromeafaﬂats{gu’venm {a)
" Do not give a suggestion (He should use. ... }

The rods were of differant thickness

*memmwmemxmmmmmmmm Rbéepssirint
fo stay affoat

waterproof

Concept: Ak has mass. {Asmoreaﬁ'waspmwedmm;ws,itwowdbe
heavier than jar A.)

The side of the lever balance with jar B would _tilt downwads

Concept: Alr can be comprassed. Thiss, the volume of the alr will remsin the
measmecapaa&yafﬁbejm

300cm?2

Property 1: Air has mass

Property 2: __ Air can be compressed

Conoepts:
- Matiers gain heat ard expand,

- Gasos expand more than iiquids and sofids. LMS expand more than
salids,

The stopper would Ppop out

'AMroug&é&egfassMga&:&dheatandemﬂecﬁ he expansion would
notbesfgnfﬁcentemugh!ocausewesfopporfodmpfn. The sir in the flask
would expand mors.

The ____ air _inthe glass flask gained _ heat from the flame
of the bunsen.bumerand  expaned




c)

Steelis a better conductor of heat than
plastic. The water in flask X_gained more heat
from the hot water In the container and
expanded more than the water in flask Y. /
Staslisa  better conductor of heat than plastic.
Flask X gained more heat from the
h:n‘ water in the contalner than flask Y.

Thus, the water in flask X galned MORE heat from flask X and
expanded MOre __than the water in flask Y.

38a)

“Must state the source of heat — hot water in the contalner and
COMPARE!

The hot water vepour fromthe hot shower
touched the cooler surface of the mirror , lost
heat and condensed to form Water droplets

on the mirror, causing & to beteme fogoy.

b)

Cancopt: Water gains heat and evagorates.

The water droplets on the mirror gained heat from the
surroundings and evaported

hotter

The surface of the mirror was than the water
vapour, thus condensation  could not take place.
<) .
Yes . The circult was still closed as the
electricity could still flow through the other wires
39
a) 12cm b)
& Spring T__. lthasa greater extension than spring

U_whenthe _same mass was hung on both springs.




402} Gravitational force and  friction

B) *Aim of experiment: To find out how tfie pulling force changes with angfe x.
'Pu#fngﬁmeneeded!ommmebfockisdapandamonfhsfcxoeseoﬁ:gcn
the bleck. :

Concepts:

. megravﬂaﬁona!fa‘oeacﬂngmanobjecusaﬁecfedbﬁrsmasa

- Tbeﬁcﬂmaffomabafu@ena:ﬂ%jedandﬂﬁeﬂuf&eﬂbmﬂuhgonis
aﬂadedbymemasso!meobfectandmetemmmeswfacawm

base of the object.
1. Using the same block will keep the mass of the block
the same.
2. Using the same block will keep the  material of the
block the same.

¢} * The question only requires you lo compare the puliing force needsd when
angle x increased from O° to 16,

S plank

-_—1
along the horizontal plank up the plani
(angle x was ¢°) {angle x was 10°)
There wres friction between the load | There was friction befwesn the foad
and the plank. and the plank. (Friction did not
There wes gravitational force acting | change.)
on the load. There was gravitational force acting
As the load was pullsd fiorizontally, | on the foad. (Weight did rot changs,)
on ed th Asmeb&dmsmmdggmepmm !
frictional force acting on the load. Hgs:san needed to overcome both the
acting on the loed.

* Do NOT write * the Frictional force of the block™ or “the gravitational force of
the block™ (The forces are acting on the block, they do not belong to it )

* Do NOT write “the block had fo overcome the forces™ (Hassan was the one
who had o overcome the forces to move the block)



c)

d)

41a)

b)

When angle x was 0°, Hassan only had to overcome the
fretional “force acting on the biock

When angle x was Increased to 10°, Hassan was puliing the block up
the plank and had to overcome.both the ___frictional

and gravitational forces acting on the block. Thus, he
needed a greater puliing force to move the block when the angle x was
10°.

OR

When angle x is 10°, Hassan had to overcome the

_ gravitational  _force acting on the block to move the
block but when angle x is 0°, he did not have to do so.

Concept:
- When an object Is placed on a siops, gravitational force is pulfing the
obfect down ths sfope.

Lessthan 20  units of force would be needed.

The gravitational force acting on the black pulled
it down the plank. (This was an additional force puiling the bloek down
and it helped to overcome some of the friction acting on the block.)

Concept:

- An.electrical conductor alfows electricity to flow through it.
Liquid Q Is an electrical conductor

Concepl:

- An electrical insulator doss not alfow electricily to flow through It

Glass Is an electrical insulator

and the clrcuit would be ___ OP€n
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